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STUDENT NAME: SoLUTON KeY

STUDENT ID:

RECITATION INSTRUCTOR:

INSTRUCTIONS:
1. This test booklet has 6 pages including this one.

Fill in your name, your student ID number, and your recitation instructor’s name above,
Use a nmumber 2 pencil on the mark-sense sheet (answer sheet ).

On the mark-sense sheet, fill in the recitation instructor’s name and the course number.
Fill in your name and student TD number, blacken the appropriate spaces, and sign the
mark-sense sheet.

6. Mark the division and section number of your class and blacken the corresponding
circles, including the circles for the zeros. If you do not know your division and section
number ask your instructor.

7. There are 15 questions, each worth 7 points. Blacken your choice of the correct answer
in the spaces provided for questions 1-15. Turn in BOTH the answer sheet and the ques-
tion sheets to your instructor when you are finished.

8. No hooks, notes or caleulators may be used.
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2) Given that y is a funetion of = and that z* + Z — _2, then y'(x) at the point (1, -%}

is d
)= 2K +.(|j(!j-ﬁﬁ =0
ﬂﬁ lj'.h-
.—'!" -—& — -
I I |
-1 — J.'H'--—* T é.,_l:z::'_l—.
@T = -9 a ! - e 9

¢) Impossible to determine

3) A beacon on a lighthouse 1 mile from shore revolves at the rate of 8 rnﬂmm,.l’nnn
Assuming that the shoreline is straight, calculate the speed at which the spotlight is
sweeping across the b]:HIHllI’.H:: as it lights up thur- sand 3 miles from t]il.. light house.

a) 24 miles/min H Kost: §2= 8 viant: .-‘5 uhen y =3

b) 10 miles,/min

¢) Hr miles/min _l,_h‘a. =y —= '5‘5._,, & % = — (g KE' j
72 miles/min N c:i.
e) ‘:%ﬂ' miles/min 1 |§ “‘__x-...; > se. 673 dt =17z
4) Using linear approximation at = —'r 16, we find that {17)"/" is appmmm.;}el}r equal to
63 L e L 4
%) 7 ot 0= }&"‘ = = ¥ x
) 5 ‘q |
- () (ILH) (&J ¢ 4(0) (dy)
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5) A radio tower is 130 ft. tall and has heen assembled on the ground lying on its side. A
motorized device raises its top at a constant rate of 10 ft /min, keeping the base of the tower
fixed with respect to the ground. At what rate is the distance from the top of the tower
to the vertical position changing when the top of the tower is 120 it from the ground?

a) 24 ft/min kh.lﬂr: 'j,% ) m.d-: ﬁf% H[l.ﬂh |j|_‘|’i'ﬂ
by} 50 fit /min 30 ¥ ~
¢) =10 ft/min 1 = J '_.‘,'_l-F‘;_Il: [30 = 2x i“-‘ +-2"j i "Ej J( }
d) =50 ft /min d - dx 7120 )10
(e)-24 ft/min - 2(5"5}) Jf}-i i 2620} (H?) R }E T
noke: § =o>x =B = -2

6) A ferris wheel is 100 ft in radius and revolves at a rate of 1.5 radians/min. How fast is
a passenger rising when she is 60 ft higher than the center of the ferris wheel and rising 7

a) 40 ft/min Al  BB={C anfs b y =60
b) 0 ft /min -'. ) o i i i&# —Lﬁ;ﬁ
@121} ft./min S = [ = Q56 3 = [ df
d) 30 ft/min . %(Ls} =L % - Eﬁi_ = o (£)(18) = 120

) 200 f/min Lokl %ﬂ(#pfﬁ:ﬁ:fﬂ) {m&ﬂﬁﬁfg)

7) There are two critical numbers of f(z) = (22 + 2r)e™%. Their product is

@- A= pxi)e™ + (Ve )

b) -1
c) 0 = ‘B'hﬁ(lﬁfl—“thl{/"

d) 1 - E_F(l“f‘] =0 = ¥= tf2
e) 2

prducf 1 crtial fl - (FLA) = =
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8) If we use the Newton-Raphson method to find an approximate solution to
z® — 2¢ — 5= 0 and we start with ¢; = 2, then ¢p is eqqual to

a}% let £ = X-2x-5 . Them £le= 3% =2
_ ‘F'[{'.'J - 9 - i&'}

19
T G =< P i
”n £ (¢, £ (2
(Do o OO SR o= NP
a3 2- —_—x . j1-1 [
d}ﬁ _gl{"} -
ES = -I_ = Lq"_L
ﬂ]% - 2% o 0

9) The maximum value of the function
fla) = 22" — 322 — 126 + 10 in [1,3] is
\ 1 2
i crikical pts : £l = ek ex-n = 6 (x-x2)
b) -1 - é{ﬁ -L}{K.-HJ =0=3 X = -4'!1,
! 3 e ot ;
@ 1(‘ ‘{:{T-I = 2 -—?;L-lL;u; Fio nofe: x= -1 is wot ia

d) 12 o inferval
.} 1 | £y = =3 Tlttie = -3 fhe int Dlﬂ
e) 1T 2 | Fy) = Ik =1L =L 40 = -1z

2 |fry)= S4-21 =+ = | <— MAK

10) The minimum length of a fence built to enclose a rectangular region of 1250 square
miles with one side using a river as a natural boundary which does not need to be fenced

IE e 150
(S = - 1252

a) 75 miles B Kj‘ I'lgb - 'j x
@]{H} miles b X Lt AT &,l» F = X Ty

¢} 125 miles g

d) 150 miles |LED

¢} 175 miles E(x = LK+ Ef-i -t F'l'ri‘]' =& T T

25 —LED
{Jmaﬁ’-: p "JJ = xl.
2 o LAY
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Fur.d - X = E§'
- n +
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11) Find all numbers ¢ in (0, 1) for which the line tangent to the graph of
flx) = * —azx + b at (e, fic)) is parallel to the line segment joining (0, £(0))

and (1, £(1)) by he Mo Vadwe Thesrem 'f*(ﬂl“ ) - £4) , oce<l.

= =
@ "fﬁ ‘{:l{ﬂ= g'ﬁ,t—ﬂ — 3‘:.1_& - (E'J '—! [-ﬂ. ‘Fi‘.]
=

h}r;;l

21 _--3&1-—.:{=|—ﬂ
1 . = — H.ﬁ't:ﬂ":l'-:‘
li]ﬂ-'ﬁ — 3—-"'1:', ﬁ_-

e) ¢ depends of the constants a and b

12) Let F(z) satisfy F'(z) = cos(2r) and F(0) = 1. Then F{%} is equal to

v Fl= Gs2x = Fd =y Sk £ C
@% F(o) = -—grn DsC = € and F) =l
j: 'mrgrf;ﬂ- , {"_:-' M F{ﬂ:iimlﬂ +I

- - - 1 _ 2
1‘.]% F[%) = 'Llrfiﬂ% +| = l-}{.—- 7
13) The function f(x) = 3z° — St + 100 is
h' inereasing in (—oo, —1) U (1,00) and decreasing in (=1,1)
b) increasing in (—oo, —1), and decreasing in (1, o) i i L
¢} inereasing in {—o00,0), and decreasing in (0, 00) 4: !"r'»d - j';:-{ -—ff:}{

d) increasing in {—nc,2), and decreasing in (2, oo) - fg.’:l{}f_l_ |}
&) always increasing. -
) ys increasing o =0 = K= '-‘I; ﬁ" I
- s B "
IE';‘:"' + + | Tt 'FT 'Ej'i.%:"l
Pt B i el e “l
st £

3&/\\/
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14) Suppose you have a cache of a radioactive material whose half life is 2000 years. The
length of time that it would take for one fifth of the mmiﬂ to disappear is o .0

a) 400 years Fiwnd b {_"-'-IDW] = ;. Pfﬂ‘]"‘ Pi) e [
1
" mh;{s}m ;21;1[2} ears — L ™ > K3 Emalij i:m
) 800 years Salve -FM‘ t: P{H_ p{ﬁ] Pi'i‘fJE
In(5) — In[4) .Ew-;g-ﬁ .-— 1 !‘:
In(5) — In{4) . % - ﬂq- S‘J
@:mnu o) — = Eant:{ﬂ 2ebo 2
15) The relative extreme values of f(x) = 2* — 22" + =% are
{;}Thrwmilﬁ;unatm—%,r—luudr—ﬂ,
h}Thrmmn.::imnnr.::%13-—.1:1.11{11::!].
¢) One maximum at ¢ = 1, two minima at;:=%a.n-:lr.=l].
d} One maximum at z = 0, tmm:’.nimaat::=;1§and:=1,
@U’m ma.ximumat;cfé,twminilmmt=ﬂam‘lz=l,
| ? ’
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